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1.  An injury identifiable to a specific part of the body and occurring during 
the course of a single work shift is a _TRAUMATIC___ injury, which 
would be filed on form CA-1. 

2.  A medical condition produced by the work environment over a period 
longer than one work shift is an _OCCUPATIONAL ILLNESS_, which 
would be filed on form CA-2. 

3.  A _SCHEDULE AWARD_ is compensation benefits payable for the 
permanent loss or loss of use of specified members, functions, and organs 
of the body. 

4.  _CONTINUATION OF PAY_ is paid by the employer for up to 45 
calendar days only in connection with traumatic injuries. 

5.  If an employee uses sick or annual leave due to an on-the-job injury, the 
leave can be restored and compensation paid instead through the 
_LEAVE BUYBACK_ process. 

 

 


